

Client ID	MOUNT08	Quotation ID	1652
Client		Movement ID	3296
Company	Mountain View-Whisman School District		
Client Ref 1		Passengers	225
Client Ref 2		Distance	425
Spot Date	Mon 10/2/2023 Time 07:15	Destination	Yosemite National Park
First Pick-up	Crittenden Middle School	Boomation	rocomic realonar rank
Pick-up Date	Mon 10/2/2023 Time 07:30	Arrival Date	Mon 10/2/2023 Time 13:00
Single Journey	Yes	Leave Date	Mon 10/2/2023 Time 13:30
Vehicle To Stay	No	Back Date	N/A Time

Description Camp Transfer

#### First Pick-up Instructions

**Destination Instructions** 

1701 Rock Street Mountain View, CA 94043
Buses can pull up into the parking lot at the end of Rock
Street. There is a parking lot that sits between the new
Middlefield Road and Rock Street. At auditorium located on
Rock Street and the parking lot is on the left side if you are
facing the auditorium -buses should turn right into that
parking lot.) The buses should access the parking lot from
Rock Street so that they are facing the correct way for
loading at the right side of the curb next to the outside of the
auditorium in the parking lot.

The loading curb will be located on the right side at the black gate at the back of the auditorium building before the school bus parking lot.

Quantity	Seats	Vehicle Description	Unit Price	Price	Tax %	Tax	Total
4	56	Full Size Motorcoach	\$2,787.00	\$11,148.00	0	\$0.00	\$11,148.00
Quantity	Descrip	otion	Unit Price	Price	Tax %	Tax	Total
4	Enviror	nmental Charge	\$25.00	\$100.00	0	\$0.00	\$100.00
4	Cleanir	ng Fees	\$15.00	\$60.00	0	\$0.00	\$60.00
4	Fuel C	harge	\$518.00	\$2,072.00	0	\$0.00	\$2,072.00
4	SPAB	Surcharge	\$150.00	\$600.00	0	\$0.00	\$600.00
Movemer	nt Totals			\$13,980.00	-	\$0.00	\$13,980.00

Coach Manager Printed: 6/2/2023 9:34:47 AM



Quotation ID	1652
Movement ID	3296
Passengers	225
Distance	425
	Movement ID  Passengers

Route Further Requirements

One way transfer

Break and meal stops to be taken along way Group is responsible for any parking or entrance fees to enter the park.

Coaches are equipped with luggage storage bays under the coach, overhead storage for smaller items, window shades, bucket seats, with arm and footrests, TV with DVD player, PA system, and bathroom\*.

\*Per California law, while transporting students k-12 the bathrooms must be locked. No student should be out of their seat while the bus is in motion.

~In the event the restroom needs to be used, chaperone can ask the driver to stop, and they will do so.

I have checked all the details above and agree that they are correct. I confirm that I would like to make a firm booking and I accept the above price.

Signature	Print Name	Date	



Acceptan		7 ( V C		portation, LLO	
Client ID Client	MOUNT08	Quotation ID Movement ID	1652 3297		
Company Client Ref 1 Client Ref 2	Mountain View-Whisman School District	Passengers Distance	225 425		
Spot Date First Pick-up	Fri 10/6/2023 Time 08:30 Yosemite National Park	Destination	Crittenden Midd	le School	
Pick-up Date	Fri 10/6/2023 Time 09:00	Arrival Date	Fri 10/6/2023	Time 14:00	
Single Journey	Yes	Leave Date	Fri 10/6/2023	Time 14:30	
Vehicle To Stay	No	Back Date	N/A	Time	
Description	Camp Transfer				
First Pick-up Instr	uctions	Destination Instru	ctions		
Yosemite, CA		Buses can pull up into the parking lot at the end of Rock Street. There is a parking lot that sits between the new Middlefield Road and Rock Street. At auditorium located on Rock Street and the parking lot is on the left side if you are facing the auditorium -buses should turn right into that parking lot.) The buses should access the parking lot from Rock Street so that they are facing the correct way for loading at the right side of the curb next to the outside of the auditorium in the parking lot.  The loading curb will be located on the right side at the black gate at the back of the auditorium building before the school bus parking lot.			

Quantity	Seats	Vehicle Description	Unit Price	Price	Tax %	Tax	Total
4	56	Full Size Motorcoach	\$2,787.00	\$11,148.00	0	\$0.00	\$11,148.00
Quantity	Descrip	otion	Unit Price	Price	Tax %	Tax	Total
4	Enviror	nmental Charge	\$25.00	\$100.00	0	\$0.00	\$100.00
4	Cleanir	ng Fees	\$15.00	\$60.00	0	\$0.00	\$60.00
4	Fuel Cl	narge	\$518.00	\$2,072.00	0	\$0.00	\$2,072.00
4	SPAB	Surcharge	\$150.00	\$600.00	0	\$0.00	\$600.00
Movemer	nt Totals			\$13,980.00	_	\$0.00	\$13,980.00

Route Further Requirements

One way transfer Break and meal stops to be taken along way Group is responsible for any parking or entrance fees to enter the park.

Coach Manager Printed: 6/2/2023 9:34:47 AM



Client ID Client	MOUNT08	Quotation ID Movement ID	1652 3297
Company	Mountain View-Whisman School District		
Client Ref 1		Passengers	225
Client Ref 2		Distance	425

I have checked all the details above and agree that they are correct. I confirm that I would like to make a firm booking and I accept the above price.

Signature	Print Name	Date	

Coach Manager Printed: 6/2/2023 9:34:47 AM